
6.2.67 33621530
qhp$4nqp[1 (qhpfrtrrlnulpfrflr urhpu_
pntuflurrffrh), frh4urqulflr4, unf1n4|rqfrtr
(udln4fqlrLfr phqirlurtn)4rfq + l,25rlq + 5rlq,

qZ 4hqurhrurn 6000

npltg qufruUnryhtt

6.2.62 33691 185 hnppfr urpl url_r u qfrtnrullnryurqb pb ruburfu 91 ur 1,
40ilq 2rI1 qZ ullqnrpu 75

6.2.63 33621 100 hhqurpfrh (hhqurpfrtr Lruurpfrmrl), phhqnllurlfrh,
phhqfl hfr\nrnfrhuln 25qp

qZ

q2

DUNLD * 40

6.2.64 33661 1 19
dhtnurrllrqnl (rfhurunllrqnfr trururpfrnuf
500il(rlp 2il1 urilqnrp-t 60

6.2.65 33631230 qn{r4nh 1n4 /qnrl}rptr 1n4, l0olo 100rI1 qZ
qz

lnrbnrlp 40
6.2.66 33691176 l1t2nL luhd, puhpngnprl 40qp DUNLD 60
6.2.67 336312603n4 5% 30 il1 qz prbn13p 200

6.2.58 33621300
u1$ur-ppnilfrqm{urlhpfrrubrupprlh tphf tuphn,
$hhnpurppfnnur; ruhruhmlufr 1nq 20rlq/ti1 +
I 8,26ri{rl1 + 1,a2ilqlrf1 30il1

qZ prEnr-,;p 20

6.2.69 33631200 plnputfghhf \n; rlhplrlntprugfrl 7,5ilq/q +
aftIq/q,2sq qZ D U N L D 50

6.2.70 33631200 plnpuilShhf \n1 /€lnprutfghtrfr\n1 1 0olo 25qp Nl q2
PUnLP 80

6.2.71 3369r192 ftr1n\urjfrlrf h[r4pnp1npfr4 2o/o 2 {1 Nt}/ q2 urtfqnrlur 600
6.2.72 33691 136 Lluupfrmtifr ptnphl / 100rI{rI1 50ti1/ q2

LnronLJrd 30
6.2.73 33691176 /Uhnt2urrlpfr uqlrprn, 30 ri1/ q2 22b\ 20
6.2.74 33661170 qpnllulffrfr hlr4pnplnpir4 / 2o/o2 g / qZ udqnrlur I 

* * 600

6.2.75 33671121 upbrupfr qpnurhlrtrunn /Upburpfr
ulFnnhfrlrurur ,2o/o 15 [1

q-z
LnLdnrlp 10

6.2.76 33621540 ququ{hp}rtrf hfr4pnplnp}r4 /,rt urqunlhpfrtr,
2o/o 2 tl't Nl}/ $-r-

qZ urr-fqnrpr 50

6.2.77 3366t154
hlnnpn$nrprul uhupur\urlfrtr (urhurpru\rujfrhfr
hf 4pnplnpf 4),'ghhruqntr 2,5rI{rI1 + 3 1, 25ilqlrl1 +
87,5ilq/rl1 5rI1

qZ u\uh2fr

\uplrltrhp 4

6.2.78 gg69 | lT 6 | $1*,it q1-t'trfr untlSurur, qpurdbghahb,

I I 
hputurl hldulqnL/Un$pur1hpu,\urpfrpil1 qZ u\trur\urp

hL 6

6.2.79 33631250 purtrnl/hpurhn1, 960/o 250 [l qZ
LnLdnLJIa * 3s0

6.2.80 33661154 uhupru\urlfrhfr hlrrlpnpinpfr4 lolo 10rI1/ q2 u\hu\urp

hL 2

6.2.81 33671129
hfnnpn$mpurp rnhurpurllurjlrh (rnhrnpur\ur1|rhfr
hfrrlpnpinpfr4), ghhurqntr 2,5rlq/rl1 + 3 1,25riq/rl1
+ 87,5il(rl1 5ri1

qZ u\urh2fr

\urfohL 6

6.2.82 33671129 itlrurpn$nrpurl 2rl(q, 25q q2 DUNTD 30
6.2.83 33631230tln{rrlntr pump lOri(il1 20q qZ DUNLD * t0
6.2.84 33691176 'Ilrpurqnl lo/o ltly q2 u:rlqnrlu * 100
6.2.85 33691145 ilurqlrhqlrnrrifr um1$unn 25o/o 5rI1 qZ rudqnrlu l 0
6.2.86 243t1530 9pubtrlr qhpopu[4 3olo qZ $L 60
6.2.87 33691176 Uhpulrpl50ri(rl6 2il1 qz urilqntpu 60


